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myF – 7 

,Ugbf;Nfhitfspd; fhuzpfs;. 

%TWg;Gf; Nfhitfisf; fhuzpg;gLj;jy; 

 

 

 

 

c + k;;;;;;;;; ;;;:- 

   a2  + 7a  + 10 ,y; eL cWg;ig, 10 ,d; ,uz;L fhuzpfisf; Fzq;fshff; nfhz;l ,U 

    cWg;Gfspd; $l;lyhf vOJf. 

          a2 + 7a + 10     tu;f;f cWg;G a2  

                        khwh cWg;G 10 

                        ngUf;Fjy; a2 x 10 

                         10a2 ,d; fhuzpfs; 

                               (-a) x (-10a) 

                                                            (+2a) x [+(5a)] 

                                                            (-2a) x -5a) 

mjd;gb vy;yh ngUf;fy; fhuzpfspypUe;J (+2a) ck; (+5a) ck; eL cWg;ghd  

(+7a) I Mf;Fk; fhuzpahFk;.  

        a2 + 7a + 10 = a2 + 2a + 5a + 10 

                              = a (a + 2) + 5 (a + 2) 

                              = (a + 2) (a+5) 

 01). gapw;rp. 

 1. y2 + 7y + 12     2. a2 – 13a + 42 

   3. m2 – 13m + 12     4. y2 – 11y + 18 

   5. x2 – 17x + 30     6. n2 + n - 20 

             

rgufKt khfhzf; fy;tp jpizf;fsk; 

thuhe;j ghlrhiy 

ghlk; - fzpjk; Vg;uy; -: 1k;; thuk;  

juk; - 10  S. n[aNjtp. Nf/ nj`p/ ept; nghyl;lfk j.tp 

x2 + bx + c vd;w tbtpy; fhl;lg;gLtJ %TWg;Gf; NfhitahFk;. KjyhtJ, %d;whtJ 
cWg;Gfspd; ngUf;fj;jpd; fhuzpr;Nrhbnahd;wpd; $l;lyhf eL cWg;ig cilj;J vOjpg; 

ngwg;gLk; ehd;F cWg;Gf;fs; nfhz;l Nfhitia vOJtjd; %yk; fhuzpfisf; 
fhZjy; Ntz;Lk;.  


